oboobod

gbdligooobobooooooobobobboobooboog
O05mO00000006¢, =50°0000000000
gboboboooooboobooobobooooboooooog
DooooooosmOO0O0ODO00000000 voO

0000000000000000000 g~ 10(m/s*)0
cos50° = 0.640sin50°  0.870 000000 (100) 0.5 N/m

B

@ (b) © (d)

U20000000000000

U 1. 0000000

000 2(a) 0000000 2 000000000
05N/ 000000000 2-(b)000000000
0000000000000000000 2 (0000
000000000000000000 02m00000
000s0000000000000000000000
y(m)0OOO0O0000+¢000000000 y#) 000
0o(100)

gobos0coobooooobooobooooooanog

0000000000 a(m/3)000 v(m/ 30000

00000000O0ooooon
a=9—0.0025v2 la

0000000 y0O0D0DOOO0DDOO0ODODOY =
Om)0v=0(m/90000(100)
goon

U3 00000000bo0ooon

2
v



